41. There are six |s=rwus in d family

namely “ATHR
JEL T theals!erul F'.'R'is
the brother of *F's husband. "D°
is the father of ‘A" and
grandfather of ‘F', Tlow is D?
related 1o *C"

42, Sakshi, Rajender and Surinder

are the children of Mr. and Mrs.
Apgarwal.  Renw, Rajan wend
Sunil are the children of Mr. and
Mrs, Bhasker: Sunil and Sakshi
are married and Anil and Sanjay
are their children, Geeta and
Ramesh are the children of Mr,
and Mrs. Gupta. Geota is marricd
to Surinder and Rajni, Sonu and

Raju are their chibdren. Rahul

Mahender are the children of

Mr, and Mrs. Saxena, Rahul is |

married to Renu and Bindu and
Rani wre their children. How ls
“Rajender” related 1o ‘Rajni’ ?
{1} Beather  (2) Brother-in-law
(3) Cousin (4) Uncle

. I a joint family, Amrit is the son
of Raman. Sarita, Ramun's sister
Tias a som Sanchay and a daughter
Reens, Rajan is e matermal
uncle of Sanchiy. How is Awirit
reluted to Sanchay 7
(17 Brother
(2] Brother-in-law
{3} Nephew
{4} Cousin

44, Rajesh

45,

wilked 25 meires
towards South, Then he mrned tor |
his left and walked 20 metres. He
then turmed fo his left and walked
25 metres. He again turned fo his
right and walked 15 metres, Ar
what distance is he from the
staiting . poinl and in which
direstion ¢

{1} 35 motres — Fast

{2} 6 metres — East

{33 35 metres — Naorth

(4} 40 matres — East

A man starts from a point and
moves 3 kan North, then s 1o
West and goes 2 km. He s
MNerth and walks | km and then
muves 5 km towards East. How
Tar 45 e From the starting point 7
(111 km

(2) S km,

(3110 km

(4} 8 km

The door of Aditya’s house faces
the Fast. From the back side of
his house, be walks straight 50
metres, then tums to the right and
walks 30 metes ogain: Finally,
be furns towands lell and stops
after walking 25 metres. Now,
Additya is in which direstion from
the starting point ¥

(1) South - East

(2 Morth - East

{3} South = West

{4) Morth — West

Directions (47-500 : Fach of
these questions fas an Assertion |

47

41

S0,

9.

=

() and o Keason (R).

answer uy

(1 iF both {A} and (R) are true
‘and  (R) is the  comect
explanation of (A).

{2} 1 both (A} ind (R} are true,
but {R} is not the correct
explanation of (A).

(300 [A) i trie, but (R) is false,

(4] iF (A e, bt (R 15 true,

Assertion (A) @ Indian Mational

Flag is known as fricolour.

Reason (R} : Indian Mational

Flag has threo coleurs.

Asserton (A) 2 Punjab is known

ag granary of India.

Reason (R) : Punjab is a lending

praducer of wheat in Tndia.

Assertlon  {A) The Worth-

enstern part of Indis is known as

“Beven Sisters',

Reason (R) : North-east India

COMPrSES seven sttes.

Asserfion (A) @ There was no

couniry knowi as Bangladesh’

when Indis: was partitioned in

1947,

Reason (R) : ‘Bangladesh’ was a

part of Pakistan at the time of

partition of Indiz in 1947,

Directions (51-53) : Each of

these questions kos a siatement

folloved By two conelusions I

and I, Consider the stutement

and the folldving conclslons.

Decide which of the conclisions

Merk




Jeadlcnws from the statement. Mok

£330 either conclusion 1 or T

followes.
(4 if nelther conclusion | nor 11
Tollows,
51, Statement : CGiood voice i a

natural gift but one has w keep
practising to improve and cxeel
well in the field of music,
Conclusions :

L. Maueal gifts meed nurturing

and care,

I Even though vour voice 15 not
good, ¢ one o ocan o keep |
practizing

51, Stwtement @ Domestic demamd
has been increasing tnsu_l than
the production of indigenous
crude oil.
Conclusions :
L Crisde ail must be imported,
1L Demmestic demand should he

reducesd

53, Statement 3 Until our Loty
achieves | economic equafity,
political freedom  and democ.
racy would be meaningless,
Conclusions :

L Politicll -~ freedom  and
democracy po band in hind.
Il Econumic equality leads o
real political frecdom and
democracy,
Directions (54-56) :
- follawing J'n_,rr'»-mm'um t answer
shesse qpusiion
Aand B are gc-od at Vallevball |
aind Hockey, Cand A are gaod ul
Baseball and Hockey, 10 und B
are good  al - Villeyball - and
Cricket. €, D and F are good i:t
Basebull aﬂd Football,
4. Who among these five players is

at four games 2
(1B (21 A
@b o

85, Who i3 pood at"mkcy, Wollew-
ball aﬂdﬁ] aschall 7
no 23 A
i3 B {4) X

S6. Who is good gt Cricket, Hockey
nnd Volleybatl 7

Read e |

. Uetober, onc  after

57

6l

62,

Mrectlons (57-59) @ Rewd she

following eformetion e answer

these quesiions, |
Five courses 17, *2°, A amd |
5%, wach of one month diraton,
ure o be taught from Jane
the  other
though wot hecessanly in the |
sume crderseguence by’ pwulcs
sors 'L MY N DY R
tenches course *2° but not in l|||_ |
month of Seplember ur Oelober.
M teaches course ' in the
month of’ August ‘N’ tenches in
the month of Jind but docs not |
fench conpse '3 of coume 4" R
weaches course 4 in the month
af Septenber.

Wiich courecmnn?ji by Q7

1z (2
(3)3 (-‘hl

- Which course s tgught in the

menth of hune ?
1 13
(315 4y4

- Which course ia tught in the |

month of July !
(hys {234
i3] 3 i4)2 I
Divections (60-62) : Read the |
Jollvwing infirmation 4o anewer
EFE s ions, |
Five friends Ay B, @, lhden.n_
shudying ina colloge. B and E are
good at Gedgraphy and -Econo- |
wics. A and B aré pood al
Leonomies and Physics, n, D
and O are good at Physics and |
Chemistry. C und A-are good .u
Plnyucq and Muthematics, D and
are good at Chesmistry and |
Gnupmph)'
&, Whe 15 pood at Physics; Chemi-
stry and Cheography 2 |

A
(30
Who is good at Physics,
Chemistry and Mathematics bt
not in Econgmics 2

s good
- Mathematios and Eeon-

o

{2A |

i,

=
o

67,

Chemisiry. | B8,

Directions (63-65) : Read the

Jollewing inflrmution (o arswer

thexe questions.

Five Inends namely  Kiran,
Geetn, Honey, Ramesh and Jagan
hnve very good characteristics
and wre being considered  for
various awards. Geel Kirun imd
Honey are i Kirin,
Ramesh  ind .fdgxn are very-
bruvie. Ramesh, Honey and Jagan
are very wuthfil. Kiran, Gieeta
umd Jugan are caurteons.

. Which of the following persons

is neither brave nor courteos
(11 Kiran (2) Geeta

(31 Homey {4} Ramesh
Which of the following persons
in neither ruthful nor brave but is
suuTteos 7
(1} Honey
(21 Kiran

12) Ramesh
14} Geeta

- Which contbination of friends s

not *Brave” but “Sincere'?
{13 Gestn and Kirgn
(2} Jagan and Honey
(31 Heney and
{4) Geela and Honey
Directions (66-68) : Rewd sire
olfowing Deformeation s answer
r)wse LR,

In it cricket match senson, Wesl
Tnelies defented New  Zealand
four fimes, Indin defented MNew
Fealand three times, Australia
defeated West Tndies three times,
West Indies defeated Tndia oaly
once  and  India  defeated
Austrilia once,

6. Which country lost most of the
timezs T

(1) Indig

(2} West Indies

{3} Now Zealar

() Australia

Australin defeated the opponents
how many  times during  the
oricket match soason

(213

s

India defeated the opponents
how  memy  times during  the
ericket match senson 7

{13
332

Ramesh




=

Direetions (69-71) 3 fa sach of
Hhrese.questiony, two temenis 1.

and I g piven, These may Kuve
e affect veldripnghip or

type L wmm,. car;hwmulm' l

disense and pramature death,

Statement 11 ; We should pot 1

i sndlsrendent cawses ar
be the " eitecis of independent
canser. Nead the i

e increasing physical
Jcmu:, Lvels bul also reduce

bulmmu's especially

ieerk ansveer s ©
(LT statemen [ s fhe cause and
statement 1 i sts effect.

(2) i stubement 1 is the s

staterent 118 its eMect
(37 if hoth the smtcments Tand 11
are effects of independent
causes, |
41 i buth the stutements 1 and 11
ore gifects of s commen
cause, .

L, Stafement 1 British surgecns
hivwe curried nut what they claim
is the world's  first lung
irmsplant. o e Z0-year-old
woman paticnt Beeky Jones who
was suffermg from two fungal
conilitins in lJle lungs.

+ Lung

ol FT
ans spend an average
bours before the idisl

2 Americ-
[ five

« Statement T : Rg::edﬂ.hcmaﬁ La
" Trobe University have found out

that drinking. around 5 cups af
enffes or more o day may be
good enough to increase, one's
tendency fo hidlucinate becnuse
of presence of calffeine in it

" is

oo

th

. Bird : Cage

{13 Antigue | Museum
(2) Crime : Funishment
(3) Thief : Prison,

{#) Animals - oo

. Traffie : Read

(1} Aeroplane ' Acrodrome
(2): Repts : Troe
(3} Blood : Vieing
(4] Cart Garage

. Paper : Henm

(1) Ggea 1 Dogen
(21 Books ; Pile

[3) Twigs : Bush
(41 Frnd : Packet

an illusion of seemg or hearing
somnething which is actually not
present. -Coffee  and | other
beverigey. such © as tea,
sofi<drinks and energy. drinks
aceess the stmulant when taken
i Jurge quantities.

Directions [72-75)

s i consists of a paly

. ZAL VEK, XCL, WM,

5 ,t'arjﬁ. af

(T6-B0) = Complere the
suries v replacing fhe P " ik,

(2)VEM
3} VND

(4] VEM

- BGE, CHG, MM, EJL 77

(1) FLM (2)FKT.
(31 FR (4] FIK

. GHIZ, JKLY, MNOX, ©27,

patients have never hefure been | aof words “hearing . a - certain STUV

able to Tave Iransplim | relationship, From amonge the (11 0PQY (2} PORS

operation while suflering | alternanives, gick wp the pair thal (3LPORW (4} PORV

nzpergilluims and siahiple fungal | Bess itlestrares  ao Similar ?X\"‘ TRE ML, <2

balls: Jones is in perfect health | relationship. g s

und is tble o breath freely agzin, | 72, Border : Country {1 ) KIH. o g D
70. Statement 1 : A recent stady by {13 Pen : Cap £ _'NG" (#FDC

Harvard ‘has revealed a higher | 1) Book © Cuover A0 ACE, GIK, NPR, -7

visk for penple with excessive | {3y Handle : Shade (18Tl (2 Tuv

television hsbits: of developing | 14y Frame : Picre (4 VEE

(3 VWX

B2, Two traing wtaming at the same
time from twe siatons 240 km
iparl wnd poing o opposite
direetions cross pach offer al &

simulizneousty Fom where they distanve of 160 km from e of |

stand. If they walk m“nrdﬁ cuch the srations. What is the ratio of |
|

« T persons A and B are at fwo
ploces I omd Q. respectively. A |
walks at v kihvand Bis 2 km'h
Fuster ithaay ) A, stadting

500 nas to cover a disance
of £ kin o 45 mines, T he
covers hilf of the distance Sn
two-thirds of the iotal time;

other, tiey in 72 mimwites. TF their spesds T cover the réraining distanee in
they walk in the same direction, (y2:l 5233 the remining time, his speed
the faster overakes the slowerin | %3 1% st B

6 hours.  Whit @ie  theit g3 It takes cight hours for a 600 (11 6 km'h
respective spreds in km/h km journey, if 120 km iy done (3112 kmh (4] 15 kmh

v

218 knwh

(1) 3and 3 | by train and the fest by car, It 85 An aotofnobile fnancier claims
214 mﬂ" | takes 20 minutes more, if 200 i be lending money ol sinple
[3]’ 3 and 4 - ) | km 15 done by the train and the mrerisl, bt he inclodes the
2 2 | rest by the car. The ratio of the intorest ev 4 months - for
51 1 specd of the mwain o that af the caleniating the princpal, if be is

i 5 speed of the s
o ’2“’“‘ i caris : | chateing wn interest of 2%, the



9.

=

. A borrowed T 4.8

sifective. mate ol inferest is

-approximately : ¥

(2L
451

(1 15254 i

(3} 12758

Y per annum simple interes: fur
3 years. He then ndded some
mve - oney t the  bormowed
strn apid lens it 1o © for the same
period at 12% per anmim simple
interest, TFA gains. T 7200- in the

whele trunsuction, - how much
meoney did he wdd from his side 7
(LT 50m- () T T
(3 Tedns  (4) T Ra0-

_ IF the rate of interest be 8% per |

onnum for first year, 8% per
annum for second yoar and 12%,
peranium fof thind year, then the |
compound interest of T 84000
for 3 }catu will be

-

(312 216064/~

(4)T 1,350.36/

A man borrows 5,000/~ from a
bunke at 8% per annom cormpoud
intercat, At the gnd of every vear |

he pays T LOOOS as 8 pam |
pavinent of loon and inrerest.
How much does he siill owe 1o
the bank after three such |
instulments |

s Asolld.syhnd.cret Tead B mand 2

m ruddivs s melted and recast inlo
o cone of rudius 1.5 m, What is
the height of fhe cone ?

(1 16T (2} 2135 m
(3)4267m  (H3135m

A Teport congists of 20 sheels
cach of 55 lincs and epch such
line consist of 65 characters. This
roport s reduced oniw sheets
cach of 65 lines such that each
Jine consists of 70 charzotors.
The percentage reduction m |
murmber of shests is closer o ¢
(1) 20% - 1 (2] 5%

13) 38% (4] 25%

0wt of the fotal production of

wron from, hemarile, an ore uJ'l
jrofi; 200 of the ore gets wasted,

und cut of the remaining imon, |
only 23% 15 pure iron, It the pure |

fron obtdined in @ vear from a
mine of hematite was 80,000 kg
then the guantity of hematile

i from that mine in the year

93,

o4,

95,

18

(1) 5,00,000 kit
(27 400,000 kg
(1) 450,000 kg
(4 400,500 ki

+ An express mwin without 1is rake

cin o 24 kmoan hour, snd the |

speed iy diminished by a quantity
that variss as the square oot of
the number of wigan attachid. Tf
it i enwn that with fonr wagons
its speed is 20 kvl the greatese
number of wagons with which
the engine &an just move is ©
(143 (2) 140

(3 138 (431210

There ure f boses numbered 1,2,
1.4, 5, 6. Hach box is 1o be filled
up either with a red or a gresn
hall in such o way that atleast 1
bux containg a green ball und the
Tomes confaining gress halls are
conscemively  nombered.  The
total number of ways in which
this can be done is ©

{1 60 (2133
(32 (415
'N' persons  stand  on o the

viteumfercaee of & circle at
distinet points, Each possible
pair of persens, pob standing nexl
to wach other, Sigs o Lwo-minuie
sung, one pair after the other. TF

the total time taken for singing is |

2% minures, what i N7

(15 H
39 {4 None of these
36 identicul chairs must be |

arranged in rows with the sime
number of chairs in each row,
Each row must contain atlenst
three chairs and there must be
atleasy thres rows. A row s
parillel to the fropg of the room.

98,

£

nummber of marks reguired for

passing: B obtnn ”g parcent

less than A, € obuain 415
percent less than the aumber of
marks oblaived by A and B
together. Does C pass the exam
ar fail 7

{13 Pass

i2) il

{3} Cannot he determined

{#) Mone of these

From a well-shuffled pack of 52
cards, 1 conds ey drawn
successively, the fint  being
replaced hefore the second’ is
drawn and the second being
replieed  before the  thind i
drawn, The probability that the
fiest is black, the second i
tinmond and the m;‘m i5'uce, is ¢
i)

(1) —= 2}

( 7 f“ [ '5]3

31— [ —

¢ 26 ‘ ’13

I it elss, there are equal number
of hoys and girls. Two students
are selecied for a gome. If the

* probability that the rae sidents

100,

ame pirls -'I_ then what is the

: 29

strengih-of the class ?

(1113 {25 30

(3390 {4y 60

Two squares of size 121 are

selected wne afier another fram

an, . #*% ' chesshoard.  The

probahility thut the two squares

belong . differem ows and

different columns, iqs ;

o i

{ IJ-,g 2 %6

(31 e {4}9

Creota was asked w multiphy &

wwe-iligit mumber B hy o2

three: d|g|t numbcr Q Bt she
k 1 P by the

How many different
enits are possible T
(132 {234
(315 (EIES

96, In an examunytion, A eblaing 10

percent Jess (han the TR

sumber formed by writing the
digits of Q . the reverse oriler,
fhcreby getting un answer which
is 22770 more thun he: comect




101,

102,

| | an
answer, What is the minimum | 105, Three men, four women and six

powsibie sum of'the digits of 07
e

(235

1316

{4) Cannot be detstimined

T2 sweers were distributed
equally  amongst  children, in
such o way that number of sweets
Teceived by each child is 20% of
the total number of  children.
How many sweets did each child
received ¢

i1z 214
3y 4y 15
13% oF the people eligible fo

varte are betweon 18 und 25 veurs |

of age. In an election, 75% of
those eligible to vote, who e
befween 18 and 25, actuully
voted.. In that election, the
number of persons between 18
and 25, who actually vored was,
whal percent of those ‘eligible to
vaote T

(1312.50%  {2)10.75%

(3) 11.25%  (4) 10.25%

What s the sum of the sl
surface areas of all the cubes
formed when a cuboid of size 5.3
™ 13 m 30 m is ot comple-
tely into the least possible
numher of cubies, all of which are
identical?
(176164 sqm
13) 6084 5q m

(21 R34 5q m
(4) 6760 s m

. A tank of capacity 1000 cubie

ventimeter is being filled with
water by 3 pipes A, Band ©, The
argas of cross-section of the
pipes A, B @l C arc iy the ratio
32 4 Water is flowing
through cach of thesc pipes at o
different rate in cn/mim, It was
tound that the time taken o fill

106,

w7,

|‘ms.

the tank, which wus. initally |

empty, by the pipes A, B and C
individually s 20 minutes, 50
minutes  and 25 minutes
respectively. Find the ratio of the
rates of flow of water thirough the

" pipes A pnd .

HArEaE

(1209 t2F5 i3

91920

109,

children can complet @ wori in
Seven days. A woman does
double the work o man dees ani
achild does half the work & man
does. How many women alone
can- complete the work m 7
days 7
(17

(a8
(3) 12 {4} Mone of these
Acan do & picce of work in 36

days, 3 in 54 days and © in 72
days. All the three bhegim the
wark together but A and B (ot 8
days and 12 days hefore the
completion . of | the . work
tespectively. How many days m
all did ¢ put in sl the entire
work was finished

(1y24days  {2) 29lays
(30 20 thays (4} 32 days
In & growp of 5 bovs, the 2™ by

is twite as cfficient as the 1* boy

The 3™ boy is twice as efficiont |

as the 2° hoy and so on, All of

them working together will tke
5 days 1o complers a job. How
much exera time will the 2 and
4" hoys take warking 1opether as
compared 1o the 5" boy working
alone To complete the satme ok,
approxirmidely ?

(1) 3days (24 duys

(3) B days 4] 10 duys

How many  hours will Anu,
Shaun and Shreya take to finish
their assignment together if Ani
alone can do 1t i six hours more,
Shaun alone can do if in one hour
moee and Shrewi alone in twice
the time

{1)5 hours - £2) 1' houcs

4 2
(3 . hodrs (4} T hotrs

Towor pipes A amd B gan fill a tank
sepurately in 20 hours and 10

" hours respectively, while pipe C |

can empty it in 60 bours, Pipes A
and B owere

When a person hed the tank
when it should hisve been full he
observed that pipe € also

: apen |,
simultancously far 12 hours,

110,

mnL.

termained open by mistake for
thetser 12 hours. He immedisely
claged it In what tme will the
tank get full afteio s close 7

(13 3hours (2} 2 hours

3} 2 4 houts (4) 3 6 hours
Alasge waler tnk gets filled from
o pipes Toand T2, T alane can
Bl dn 50 mintes, while T
abome G Gl it in one hour. If o
any day T: staris warking only
after Ty has been used for filling
half the lank, then the time tken
o il the tarik will be -

1130+ minniey

(23 110 minutes

A
L]
{4} %{tl*‘ 25minules
A tap takes 8 sevons o fill a jar
and 6 minutes w0 Al 2 dum,
Pl o o il the drum with the
Jar. First b fills the jar ond then
Beigzs it 60 the drum sind pours the
witer o the drm, The time
taken (o bring the jar from the tap
o the dum ® 10 seconds,
Unfortungtely, the jir develops o
leak, which can empty the full jar
i1 4 seconds, What will be the
minimim il tine. required by
Rahul 1o fill the drum ?

i Jszr minies

minites

(2} 1E minutes

(3] 20 minates

) m§ minites

A company mammfaciures two
products X and ¥, Ong umit of X

Tequires thres units of material A
and bwo units of material B while

© one it of ¥ requires tao units

of misterial A and five units of
material B 1F 25 qaits of cach
produgt were 1o be produced,
cileulate the requirement ol
material (in units) B

(L) 195 (2)12%

(31150 (4) 156

. Three éontainers X, ¥ and Z

have a capaciites of 10, 20 and 30



4.

115,

Tirss Fespoctively. X. which s
emply is filled with water from
¥, ¥ is then (illed with the wine
from Z. X is now empried into 2.
The entire operation is repeated.
Wiat would be the strength of
wing in the container £2

(13 33% {4
(3) 31% {4} Mone of these
A milkman diluted milk o an
exten of 25% of the original
volume of purc milk with water
und priced it same a8 e cost
price of milk. Part of the water
evaponated and the volume wes

reduced o ;; b of the diluted

volo- me, The profit percent o
the mlkman is

1) 23% Xy 25%
(3) 15% (41 20%
The percentage  volume of |

aleohol in three solutions M, N
and 11 form a - geometric progres
sion in thist oeder. T we mix the
first, seeond and third solutions
i the Volime matio of 2:3 54,

we obtain a selutien containing |

32% alpohol. 1 we mix them in
the rang 3: 2 ¢ | by volome, we
abfain a solution containing 2286

Directions {121-125) : Sk 0

graphs g arswer these guest |

Johs

The bar graph below shows the |
revenue generated by six banks |
during 2011 The pie chart shows |

the percentape distribution of
revenue eprmest through different
modes.

P Interest . ewned  through
Business Loans.

) —Imerest  eamed  through
Home Loans.

R —Interest  eamed  through
Personal Lowns.

o

— Interest eamed through Aulo
Luoons,

= T lntenest

. At the beginning of a term the

u

v

alechol, What is the percentue
of aloohol in M

(1) 6% (2)12%

(31 13% () 10%

The contents in beakers A and B
e 90 litres of milk and 90 Jires
of water respectively. Now 30
litres of milk is ken from A amd
pit into  beaker B, After
thormughly mixing, 12 litres of
the mixture is wken from B and
put imo beaker A Wht = the
percentape of water in beaker AT

(1) 14.5% 2)12.5%
Gh 15 4 1T8%

. Three friends Kartik, Vivek and

Sameer divide 11055 amongst
theim in such a v chst 3£ 100,

T 200 wnd ¥ 150 are removed from” |

the sams that Bk, Vivek and
Sameet received respectively, then
the share of the sums that they got
will be in the ratio of 11: 15 : 24,
How much dift Sameer pecaive ?
(LY LI5S (2T 4050
BER62E-. (DT SI0-

rithiv ol the mamber of boys in a
school under 15 years fo those

over 15 years age was 3. 4. At |

the el of the term the ratio wa

threngh
tinaneial

camed
Depogits in other
institute,

Charpes
Services.
Charges  carned
ither spurges.

carned  through

through

s
=700
£ il

e,

120.

123

122,

7ot & as 20 of the hoys had
reached the age of 15 years
during the term. Find the total
mumher of bays in the school,
given thal no boy left or was
admirted during the term.

{1) 225 (23 105
250 (4 215
Chanda purchasesd e triangular

plots, each of which had exactly
twar sides of lerigth 100-m. Find
the maximum possible difference
of the perimetérs of the twa plots,
if it is known that neither of the
two plots is less thin 48040 sq m
1 Arca.

[1)20m i2140m
(33 60 (4] Mone of these
‘There are two right pyramids

with @ square base, The two
pyramids are similar - shape.
The height of the first pyramid is
30 m and that of the smaller is
22 5. 36 men take 32 diys w
build the first pyramad. How
many days would 54 men of the
same efficiency take o build the
second pyrumid ¥

{120 (2311

[3) 25 (EYR)

The bank fhat camed T 104/~
crores as interest from  home
Tnans in 2011 is ;

(e 24
B D
Out of the el interest camed

through business loans hank A
and €' earn 45%, from small scale



123,

125

e . ST T i ST sy -5

indusiries (551 wnd the rest through coltage indusivies
(LY whisreas B und 1 eum 539 fromi 551 and the rest
through €1, Which
s industries 7
(I A, through €1 {23 D, through CT

(3) A, through S81 (41 D, through SS1

The interests earned through car (0 subset of Auto
loau) Toan by B, 1, E and F are inthe ratio 21 -3 4
und the total interest enmed by these four Banks for car
lon is T 36 crores. The bank i sarned imtegest
which'is 8:3% of the inrerest samed by it through,

Al loans s
B 2D
BE ) F

Bunk B ound F oearn inerest by depositing their

umounts in the fnancial instines X, Yand Z. B eam
interest from them in the ratio 2 -3 - 1 und F in the
ratin 3 1 3. By what percent F's carning froin X is
mare/iess than B's carning from X 7

{128 4% more 2926.13% loss

(737 28 4% Jess (4 22.13% more

By what percent is the Fargest amount earncd by a
bank through U and ¥ together more than the least
umount through L and V' together by any of these
Hanks 7

(1) 34250 DRB

(31 26.15% (4} 35.42%

Dircetions (126-130) : Sty the graph fo angvwer
Shéxe qriestions.

The fallowing bar kraph shows the rtevenues
Lendruted by three realty’ finms A, B and O during

2008 16 2012, Fach of these firms builds Low Income |

Group (LIGY apariments, Middie Ingome  Ciroup
(MIGY spantscats and High Income Cirnug (HIG)
APArEEents.

-

hunk earis the least through any of

126, The firms A, B and C saw 1 tise of 15%, 6% and 9%
respectively in 2008 from 2007, Whose revenne was
leasgin 2007 ¢

(114 @B

3o {4} Equal revenues

In thie year 2010 the firms B, A and ¢ invested ¥ 2011
eroee, % 1600 crore and # 2300 crore respectively, The

1

. fiffi betveen and profit
percent in 201 is ;
(17 3858 {2) 5317
[3) 146 4 51

| 128, By whal percent should & inerense its Tevenue in 2013
to-make it L0%, mare than the Average revenus of ull

| the fiemes in 2012 7

(1) 108 2} 11.86%
(3) 13.47% (4] 17.34%
| 1291 the profit cumed By A im 2001 is 16" of the

average of the revenucs of A in 2011 + Bin 2000 and
i 2008, the investment of Ain 2001 is

| (1T 1,229 crore
(Z}T 893 crore
(3) 71,392 crore

| () F 2477 erore

130, In 2008, A gt 27% of jts revenue through LIG

housing whereas in the sume year B sarned 429 af its

| revenus through MIG housmg. Hoth the COTIRAT ey
spent T3S0 crove: less than these revenues obtained,
The difference in percentage profits thus sarned by A

| and B s -
(1) 50.24% (2F 1
(35 23.6% (4) 15%
Directions (131-135) : Stuclc the graph m answver
these quektions

The percentage profits of four leading airliners AR, C
and I for six years is shown in the line graph betow,

A S -
0 g

-0 ‘

T 012 |

1a o o



131,

13

133,

]

In 2007 company A fnvested T 830 crore, Wherens © | [ Campany = I
invested an amount which bears o ratio of 3 : 2 with B e n E F
that of A, The revenue generated by © in 2007 13 Channets L | 4
(137 16434 crore (2)% 730§ crore 1 it ek Attt hkh! T
(3) % 1436- Torore (41T 647 5 crure 5 e i e
The tofal revenue genernted by all the compunies m | " L s el e
2010 35 T 3600 crore. The revenue of Cs 30 of the | —— T35 ey
toal revenue. The revenne genernied by A B anad Thin nr 93 Jukh u'uw A7 lakh fle_Rd_ |akh
thn.iamcw:unx?;ﬁ 245 and & '!I'D'Tr.llxll\-l:l\' ulthe | 2 135 | 235
revenue. The muxi in that i fo. |25 Bnkh [ B Tkl 71 ok e | crore

E']r-‘;:\ﬁ e by : o (' bl s [T w::: 32 lakh| 5 lakhi99 lakh
(318 4 P | 136, Which of the companics shows the - maxifmum
In 2071, companics B and 1) nvesied o total ameéunt percentage differenc the viewership of its channets
of"® @46 crore. They earned their revenues by eprrying | Fand 11 with respect 1 channel 1 7
passengers und goods, The profit earned by B through | (E B
passenger traffic is 43% of the wotal profis carned by 1§ T @ F

- and and the romaining part theough goods traffic. The | (37, Toa-fifth of the viewers of channel V of A shilled ke

profit earned by [ through goods trffic is 38% of the
total profit camed by it and the remaining part of the
profit is through passenger trallic. Tf the' investments
made by them are in the ratio 5 : 6, the actual profit of
B through poods waffic is moreless than  the

t passenger traffic of [ by

134,

135,
_ invests 20% mare than A,

(17 lesis by T 36,44 crore

(21 miore by T 380808 crore

(3) less by T 33.9528 crore

() more by ¥ 46,44 crore

Tn 201 1, Arliner € invested an amount ol 2 630 crore,

1  §
2 af this amgunt wes invested by B A invested of the

armount invested by B oand 13 invested I% of Ain the
same: year. The Tevgnue generated by A and 1 is
mareless than that by Band C by

(1) mare by T 276,99 crome
(21 more hy T 45,05 come
(3) Jess by % 48,09 crore
() lews by T 2TH09 crore
Iy 2012 investment mnde by A 35 7437 erore. B |
nvests 20% Tess than B |
and T invests 20% imiore thin O, [F1he profil esmed by
earned by each is the average profit percent in 2012, |
who zarns least fevenue T

o

(E1R:

Directings (136-140) ¢
ke Ui

The following table shows the subscriber huse of six
Direct to Home (DTH) TV service companies with
rezpect 1o five popular channefs aied by them.

(21 A
3
Sl the groph fo answer

139,

" chunnel ¥ of B and E —: of thess o B and the

remuining ta B One-fourth of viewses of channel V of
© have o started warching chammel ¥ of 1 and F; 1
of it T and the rest ¥, In the new new distribution
which of the compinies huve maximum viewsrs for
chunnel V1
(1B

(EAR Y

@ c
(41 A

{138, The daily revenue gencrated (hrowph advertiserment

by channel 11 of companics A, € and Foare in the
same propertion as the ratio of their viewership. The
ofl wmeunt collected in o day by them is T340
crore The revenue generated by channel 1 of T which
is &% more than tht of channel 171 of Cis {

(EpT 1175 crore (2% 10.88 crose

(3} 12 erore, 3 lakh (417 146 85 crore
Tnformative programmes of channel U of B is watched
by 27% of wiewers of this channel rest watch
chntertainment programmes, 0 he  viewers of
informative programimcs of chiannel 1107 C s less by
3555 of viewers of cntertinment programimes of
channel 11 of B, then the mumber of viewers of
entertainment programmes ‘of charmel AL of C is
moreless than that of channel T ol B hy

(Th 302210 more (21 3325800 more
(31352900 tess (412022100 lass

140 For paying the fzes of the staft and other cxpenses m o

day, channel 1V of comgany A has to pay 13% of its
revenue  collectsd of fhat daw.  This amount s
T 2500,000¢- miore than for chanbel V' oof C. . The
revente genesated per day by thi.nnrl 1 ofF is twice jts
viewership ligure and = less % than chunmel IV of
A. The amount spent by Lhamncl Vol Cinadayis:




(2} 53,19,6000 |
(412 78,19 600/

(L} & 28, 19,600/~
30 4K 36, (-
Directions (L41-145) : Study the filiowing infarm- |
QO 1D GRIer these guostions.

An i consists of 1500 emplovees, The ratin
uf males to females is |7 ; £5 Al the employees work
At five ditferent levels named G, 0 Gy A, and G,
8% of females are 51 Ie\'\':l(.iI -18% of the males work
atlevel G, One-fifth of the male work ut level G,. The
Titio of femiales fo mles it level G, 152 ; 3, Amd 239,
of the ol numbers of employees are at level &y
Fermules working at level G, are 60% of the males
working & the same Tevel. |55, of the femmles are at
Yevel G, The remaining females arear level Gy, 16% |
of the males work st level G, and the remaining males |
are working at level G,

146.

140, What is the sumber of miles working at level i, 2 |
(136 ° (2)228 147
(3).253 (#1653 I

142, Number of males working at level G, forma wnar |45
percent of the femiles wirking at the samc level 7
(1) 145,52 (2) 16812 148,
(3) 12342 [45:139:32 |

143, What is the number of females working al level G,7
1) 147 * [2¥182
(3) 117 i) 102 |

144, Number of mate working at level G farms
approximately what percent of tosal numbér of the
employees in the organisation 7 |
{ys 2)13 |
(3} 18 422 150,

145, What is the tofal number of females working uf level
G, ond G, together 7
(1) 281 2118 i
(3) 219 |

42
Directions (146-150) : Sy the graphs fo anvier
these guesiipns,
Pic-charts below shows the percentage of different
types of vehicks A, B, C, D, E and F in o atals i two |
CotiseCutive vears (2009 and 2010), |

151,

Coeansiss of o problem foliowed

Tutal mumber of
vehieles in 2000 = 186451

o B

1 i J .

in the year 2009, the number of vehicles of type A ang
T together is what percent of the number of vehicles
e F amd A together in 2010 2

(1) 68.83% (215210,

{3) 60,23 ) T0%

From 2009 to 2010, in the case oF which ofthe following
types of vehicles, the change was masirmum 7

A 2B

e (4HE

What weag the differsnce in the mumber of 1% type of
“ehicles during 2009 and 2010 7

(1311321 (2) 11491

{37 30208 5 (4) 15200

H the mumber of [ type of vebicls in 2009 was 5000,

what would have heen its APPIOXImALe percentage in

L340, t (23 Loty
i3} 5205 (4)2.56%
The number of 4 type of wehicle in 2010 was
epproximately what percent of the number of A type
ol vehicles in 2009 7
111379 (2) 1200
433 100%, {4) 110%

Dirbetions, (151-155) : Fach of theve* quessions
5w tatemints
ambered as I awd 1, Devide whethér the date in the
shatenvents are sufficiont to anvier die anessiin mark
angwer o ),

(it L ulone is bt
alone is nor sufficicnt 1o angwer the questicns,

(2] 1f statement IT alone is sufficient, but statement |
alon is net sufficient to answer the question.

{3}l hoth statements taken togeiher are sufficient to
answer the question, but neither staterment alone is
sufficient

(41 if statements | and 11 together are not sufficicnt,
and additional data is needed 1o answer the
question,

Agitrus fruit grower receives T 080/ for cach crate of

lemion shipped and ¥ | 5004 for sach criste of oranges

shipped, How many crites of omnges did the grower

ship last week 7

n



L Last week the number of
crates: of lemon  tha: the
grower shipped was 20 more
than twice the mumber of
crates of arange shipped.

« Last week . the prower
received & ol of
T3 87,000~ from the crates .
of lemon  and  wranges
slipped.

IF o total of 84 students ane

enmilled in two sections of a

calealus course, how many of

the: 84 students are fernale ?

=  0Fthe students i Section 1

152,

are femile,

- -;mhu students in Seetion

ane female,

Company R's annual profit has

mcrcased by a constant amount

each ealendar yedr since 2005,

What was Compuny R's annual

profitin 2011

L Tn 2005 Company R's annual
profit was T 2,12,00,000/-; in
2009 Company R's annual
profic wis # 2,42 00, 00:-,

Il Company R's annual profic
has increased by ¥ 7,50,000/-
sach vear since 2003,

« The figure below shows the
shape of & flower bed. If are QR
15 o semicirele and PORS iy o
reclangle with (28 = RS, what is
the perimeter of the Mower bed ¢

153,

161, Wha has won the men's singles |
title of Freach Open  Tennis
Crand Slum 2013 7 |
(1) David Ferrer

(2) Rafnel Nodnl

(3) Roger Federer

(4] Novak Dyokovic

155

162,

L The perimeter” of rectan,
PORS is 28 feel

I, Each diagonal of rectangle
PORS = 10 foet long,

Committee X ané Commitles ¥,
which  have e common
members, will combing to furm

Committen: £, Does Commitics

X have mere niembers than

Camrituss Y2
L The average (nrithmeric
mienn ) age of the members of
Commitiee X 15 25.7 years
and the average age of the
members of Committee Y is
295 years. -

« The  avernge  {arithmetic
rrciEn ke of the members of
Committee Z will he 26.6
wears, 3

Dircetions (136-160) : /n each

of - fhese  guéstions  two

“quantitics A and B dre given,

Campare  the o giantities

el mark answer ae

(YT quuntity A is greater than
quantity B.

(21 3f quantits 1315 greater than
quantity A

(3] iF quantities A and B equal.

{401 comparisdn . cannot e
made.

. The measures of the angles in

triangle P arein the ratio of
22416

The mcusures of the angles in |

angle Q arein the ratio of

14226

A The: measurenents of (he
largest anghe in triangle P,

B The smensuremdns of the
Targest angle intriangle .

« Two circles with the same radins

are bluched inside o rectangle

Bharat: Sanchac  Nigam Ltd,
(BSNL hits stopped its 163 years
old ... services Fram duly 15, 2003, |
{19 Trank Call

(2) Money Order

(3] Telegram

(40 Mane of these

158,

T,

163,

AThe area 'of ‘the 'shaded
region,
2 The arei of ane and a half

circles.
William bowght X yellow colon-
red pencils and ¥ red ones.
Travid bought 15 pendeils fewer
than two-third of the total
mimber of penéils thut Witliam
huuun

2 The mimber of pencils that

Dinvid hought.
B: @4 - 4509
5 5
. The concentrition ‘of aleohol in
Tequila “is half of  the

cancentration it Vodka,

A chektail consists of Teguila,
Vodlea and water only.

At The amount at alcohol in @
Titre  of cocktnil, | which
conmiats of 507 Tequila aud
3 Vindka.

< The amount of aleahol in a
lime “of  cocktail, which
cnnisists 'of 300, Tequils and
Sy Vodka,

A box of card contains 2 blue

curds and 2 red gnes,

A The minimum number of
<utds that are fieeded to he
taken oul ol the box in ordér
I get two cards with the
same eoldur,

B The minimum  number of
cards that are needed o he
ke oul of the bost if onder
to get' two cards  with
different colours.

=

Who has been reappointed as
Exceutive Chairman, of India’s
IT Company Infosys 2003 %

{13 Marsyana Murthy

{23 Nandan Nibekami

(KN, Kamath

14) Mone of these



164, Whn amnong the following Indian

Badminton playars bas won the
Thailand Open Grand Prix Gold
in 20139

{ 1) PV Sindhu.

{2) P. Kashyap

{3} K. Srikanth

{4} Sainn Nehwal -

168, Wha is the President of Iran 7

(1) Hassan Rowhani

(2) Ayatollah Al Khamenei
(3} Mehmound Ahmadinejad
(4) Mome of these.

166. Who has been appointed as the

168,

169.

17 Which

Chiet -Advisor o the board of

*fow budget airlines AirAsia India

in2013 7

(1} 5. Ramadorai
(2) Ratan Tata

{3) Tony Ferandes
{4} Nong of these

. Who has become the  first
arnl
Kashmir to break into the Indian

cricketer from  Jammu
senior ericket team ?

(1) Shami Ahmud

(2} Shahbaz Nadeen

{3} Shubham Khajuria
(4) Parvees Rasool
Which mobile, company has
unveiled the world's slimmest
6.18 mm thick smarl phone,
“Ascend P& 7

(1) BlackBerry  {2) hokia

{3} Samsung () Hunwei
Which Indian airling has bagged
the best low cost airline in
Central Asia and India at the
SKEYTRAX  Woeld =~ Airline

Awards a the Faris Ar Show

20137

(17 Jet Airways

(2} IndiGo

(3) Godir

() Spicelet

Indian  pharmaceutical
company hies been fmposed with
% B0 crore fine by Furopean
Commission n June 2013 for
delaying market enry of cheaper
generic versions of  Dunish
company Lundbeck’s branded
Citalopram 7

17

(1} Ranbaxy Lahb

{2) Dr. Reddy’s Lab
(3) Dabur

(41 Aurobindo Pharma

- Who is the first Indian appointed

a5 the Deputy Presideat Pacific
Croup of the Aslanta  based
beverage company Coca Cola
(1) Munu Anand

(2) Venkatesh Kini

(3) Atul Singh

(4} None of these

172, The famous *Lukla Asrport’ at an

173,

174, 0l and Natural Gas Corporation |

altimide of about 2843 metres also
colled Tenzing-Hillary Airport’
is situated in which country 7

(1} India

(2) New Zealund

(3) Bliutan

(4) Nepal

The Reserve Bank of India
imposed o fine of T 10.5 crove in
June 2013 ey which of the
following _bank(s) for mot
adhering to the KY'C norms 7

A Axis Bunk

B. HDFC Bank

C. ICICI Bank

D ¥es Bank

(17 A andd 13

(2) B, Cand D

(31 A B and ©

() A, Cand D

Ltd. {(ONGC) along withe........
Juintly sigmed an sgreement o
reqiiire Cthe 1086 saks of
Videovon Inchustries. In o glant
Mozembique gos filled for § 2.5
billien.

(1) LNG Petronel

(23 0l Trndin Ll

(3} Inmchiun Ol

{4) Bharat Petroleum

1'& Who hes become the 20“ it |

176,

Governor of Delhi 7
{1} Tajender Khanna
{2} Najech Jung

(3} ALK, Singh

{4) Birender

| 182,

Suresh Kalmugi has lost the 12 |

year reign as President of the
~.on July 2013,

178,

179,

{1} Indian Athletics Association
{2} India Olympic Association
(3 Agian Olympic. Commitiee
(4} Asin Athletic Association

. Which Indin Automobile Co.

Hiaas purchased 49.2% stake in the
US based motorcyele company
FErik Buell Raving (EBR) for § 25
millien in Jung-July 20103,

(1} Hero mator corporitivn

{2} Bajaj Auto

(2 TVS

(4} Mahindr

India has successfully launched

its first dedicated navigarion
satellite. ......using PSLY in
July 2013

{13 IENES-AL

(21 IRNSS-IA°

(31 TRNSS-TH

(47 TERES- 20

Which famous Indian suiting and
Fabries conglomerste has opened
its first shop in Karachi, Pakistan
i 2013,

(1) UM

(2) VIMAL

(1) RAYMONDS.

(4} DIGIAM

I which of the follewing sectir,
Indien government has vassed the
Foreign Direct Investment Cap
oy 10K n July 2013 7

(1} Telecom

(&) Delence

{33 Civil Aviation

(4} Insurance

+ Recently which Indian Telecom

Co. has purtnered with goople o
launch i seevice called free zone
to access Gmail, google ete.?

{13 TDEA

12V BSN

(35 AIR

(4) RELIANCE

Whe  hus . been named as

Australian Prime Minister in 2013.
{13 Jullia Gillard

12) Kevin Rudd

(3) Wayne Swan

(4] Mpne of these



183,

=

18

184,

187,

Which country has won the FIFA
Confederaions  Cup Football
Championship 2013 ¥

(17 Urugnas

(2] Tnaly

13 Brazil

(41 Spain

. Which of the follawing Hill forts of

Rajasthan have been added m the
LM Wold Heritage list m 20137
A Amber

B, Chittorgarh

C. Gangron

1. Juisalmer

{1yAundB

(23 A, B und €

{3 A, Cond D

43 All these

+ South Korean Steel Co. POSCO

calls off its ¥ 32 thousand crorc

mitegrated  steel  power plant

praject i which of the following

ahites ¥

(1) Wesl Bengal

(2 Bibar

3} Kamataka

) Gujrat i

Malala Yousafieni, the Pakistani |

teerager, who  addressed  the

Youth Asseuihly at UN in July

2013 on her birthday appeal for :

(1) Free education  for  all |

children

{2} Safety of women lahorers

(¥ Health - faeilities for
children

(41 Safety of Gl child

Whe hins played the leading role

in the movie * Bhog Wik Bl

based oo fhe life of legendary

sports man Milkha Singh 7

all

"1 Amir khan |

(21 Frahun Akhear
133 Ranbir Kapoor
{4} Salmun Khan

+ Tears you apert”, & nation wide

Mational.. ... -Control Campaign is
lnenched by ministry of Health

190,

| 191,

192,

193,

| 194,

and family wellure, government
of India.

{Ey Aids

2} Malnutrition

(1) Population

4} Tobazen

Which politicn] party has weon
the mujority in 2nd National
election in Bhutan 7

i1} Druk Phuensum Tshogpa
(2) Peoples Democratic Party
(3} Druk KX mrub Tshogpa

(4} Druk Chriwang Tshogpa
NDMA stands for

(1] Marional Dairy Management
Association

{23 Mational Disaster Manage-
ment Authority

{3} National  Defence  Marine
Academy

{4 National Dam Manngement
Autherity

Who has been appointed as the

new forcign Secretary of India

from Tst August, 2013 ¢

{1} Sujata Singh

(2} 5. Jai Shankar

() Ranjan Mathur

(4) Neme of these

Where was the 20th Asian |

Athelitics Championship held 7 |

(1) Delhi

(2) Bangalore
13 Hyderabad
(4) Pune |
Automobile Co. General motors |
{GM) - has teamed up with
it develop a hydrugcnl

fuel cell or vehicle,

(1) Honda

12} Suzuki + 3

(3] Tayota |
(4) Audi

Who wrote the Hosk “Lang

wilk to freedom™?
(1} Anng Sun Sau Kyi |
(2) Pervez Musharat

195,

196,

187,

| 199,

200

(3) Nelson Mandela

(41 Bill Clinton

Whao fas named for the Tagore
Aweard for  eufural  harmony
20137

{1y Pt. Ravi Shakur

{2} Zuhin Mehta

{33 NC Stayn Nacayan

{4) None of these

KundanKulam MNuoclear Power
Plunt is situated in Tamil Nadu is
A i PUWET gEReTAlTR unil
in Indin. .

{1 80O MW

(2} 1200 MW

(3} 1000 MW

(4) 1500 MW

Tech Mahindra has become the
largest  Iadian LT Service
Provider Co, after the merger of
Mahindra  Satyam oo Tech-
Mahindra in June 2013,

(1) Forth

(2} Third

(3} Fink

(4) Second

Which is the recently lnunched
mest spcial networking site by
[Google Inc. o compete with
other such sites

{1} Google

(2) Glogoyoko

(%) Google Farth

(4) Goodwizs

Mational  Rural | Emplovment
Guarantes  Scheme (NREGS)
was launched in +

(112005 (2)2008

(32006 (4) 2007

As per Intemational Energy

Agency (TEA} report released in
June 2011, preenhouse  gas
amissions ane ;

(1 Marginally decrensed

{2} Considerahly increased

{3) going up

{4} not decreasing
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